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	Answer all the Questions. Each Question Carries ½ Mark                                                         20×½ M =10M

	Q.No.
	Question
	CO
	Level
	Answer

	1.
	Define Bellman-Ford equation

	CO1


	L2


	

	2.
	Define Three-Node Instability
	CO1
	L2
	

	3.
	OSPF stands for 
	CO1
	L2
	

	4.
	To create a least-cost tree for itself, using the shared LSDB, each node needs to run the

----------

	CO1
	L2
	

	
	a) Dijkstra Algorithm
	b) RIP
	c) BGP
	d) Leact Cost tree 
	
	
	

	5.
	The Routing Information Protocol (RIP) is based on the 
	CO1
	L2
	

	
	a) distance-vector routing algorithm
	b) Dijkstra Algorithm
	c) RIP
	d) Leact Cost tree
	
	
	

	6.
	The Routing Information Protocol (RIP) is one of the most widely used  --------- protocols.
	CO1
	L2
	

	
	a) intradomain

routing
	b) inter domain

routing
	c) intranet domain

routing
	d) internet omain

routing
	
	
	

	7.
	RIP is implemented as a process that uses the service of UDP on the well-known port

number 
	CO1
	L2
	

	
	a) 520
	b) 420
	c) 515
	d)  620
	
	
	

	8.
	RIP has two types of messages: 
	CO1
	L2
	

	
	a) request and response
	b) GET and PUT 
	c) Send and Receive
	  d) query and

response
	
	
	

	9.
	OSPF is implemented as a program in the network layer, using the service of the ___  for

propagation
	CO1
	L2
	

	
	a) IP
	b) HTTP
	c) FTP
	d) DNS
	
	
	

	10.
	OSPF uses ____different types of messages
	CO1
	L2
	

	
	a) 5
	b) 4
	c) 3
	d) 2
	
	
	

	11.
	OSPF implements 
	CO1
	L2
	

	
	a) the link-state routing algorithm
	b) distance-vector routing algorithm,
	c) Dijkstra Algorithm
	d) Leact Cost tree
	
	
	

	12.
	The Border Gateway Protocol version 4 (BGP4) is the only _______    protocol

used in the Internet today
	CO1
	L2
	

	
	a) interdomain routing
	b) intradomain

routing
	c) intranet domain

routing
	d) internet omain

routing
	
	
	


	13.
	A technique called ______ is used to improve the efficiency of the bidirectional protocols.
	CO1
	L2
	

	14.
	RIP or OSPF are 
	CO1
	L2
	

	
	a) interdomain routing
	b) intradomain

routing
	c) intranet domain

routing
	d) internet omain

routing
	
	
	

	15.
	A transport-layer protocol can provide
	CO1
	L2
	

	
	a) connectionless and

connection-oriented
	b connectionless 

	c) connection-oriented
	d)stream oriented
	
	
	

	16.
	In the Selective-Repeat protocol, an acknowledgment number defines the sequence number of the.
	CO1
	L2
	

	
	a) error-free packet received
	b) lost packet received
	c) out of order packet received
	d) inorder packet received
	
	
	

	17.
	The send window maximum size in SR protocol can be 
	CO1
	L2
	

	
	a) 2m1.
	b2m
	c) 2m -1 
	d) 2m+1
	
	
	

	18.
	The size of the receive window is the same as the size of the send window in SR protocol .State True or False?


	CO1
	L2
	

	19.
	In the Go-Back-N protocol, the size of the send window must be less than 2m;

the size of the receive window is always 1. State True or False?


	CO1
	L2
	

	20.
	To retrieve information about hosts, DNS uses two types of messages: 

	CO1
	L2
	

	
	a) query and

response
	b) GET and PUT 
	c) Send and Receive
	d) request and response
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